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Grade 9 Academic Math
Unit 2 — Review for Test
Name: (}‘/O{Z,Z{Zﬂm W ﬁ'} i / //

Complete the foi lowing tab!e ( / )
e

English Phrase or Sentence

Algebraic Expression or Equation

(a) Triple a number reduced by ten
w2 -

1

. 3n-10

(b) F};;e more. Than ont—towrth of a yw;néer,\/

§jg Lt
4

(¢) Four less than half a number

—-—:_—q—--—-\-x'

e BN AT

t =
(d) The f!l:l_m of two consecutive mtegers@OOOI x 1"%‘?‘! = /000 ) Npse?
x: '1'1- |

(e) Twice the distance travelled, mcrea§§d by 9@ 19.
ey U

Qad+9=119 ___

(f) T?J'Ple} Fve less thas a nuhéer, inereased by L/f/.«v/ Y4

“3(x-5)+4=14

Multiple Choice @
For questions 2 to4, select the best answer. Write the letter of your choice in the provided blank space. WS tut = 36

2

%

4.

C Y The perimeter of a rectangle is 36 m. If the length is three times the width, what is the Iength?w' '

(a) 4.5 m (b) 18 m I3.5m
Bin=343)< 3.5

Bw=% D> w=45

(d) 9m

D

01 \4 distance, d, in kilometres, a spaceship travels in 7 hours is given by the formula d=40000s. How long

Wl" it take the spaceship to travel 120000 km?
3 h (b) 30 h (c) 0.3h

0‘ Nat and Stefan play on the same hockey team. Nat has scored 8 more
@w 36 goals. How many goals has Stefan scored?
(

a) )14 (b) 12 (c) 16
Qo als

Sefan | S 8+5+9 =36

25=2%

S = |4

() 300 h 9 d_
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- 1080%

T Yoo
goals than Stefan, and together they

) 10



5. The perimeter of an NFL football field is exactly 1040 feet. If thedenpth
width, find the dimensions (i.c. length and width) of the field.

(a) Construct an algebraic model.

ﬁanknm Representation
width w t/

Ie»«g}‘k 235w h/-

of the field is 2.25 times longer than the

(b) Transtdte the problem
into an equation.

Wt dedSwt wt2.d5 = 049

A

(¢) Solve the equation
wt 225 4 W+dA5w = I0¥D
L bSw = 1040 v«

: o
g e L

i 335w = 225Ce0) = 360

(d) State a conclusion.

The width of the Feld 1s 160 Feet
and ha (€f_.an 's 260 feet, o

(¢) Check the solution.

160 T RQ5CHE0) 160+ 2251/ ¢0)
= b0+ 3604160+ 360

= w040 |



Eliseo hes 5 leSs Hgn Sachin Wl has R more than Sachin
6. Sachin scored 5 goals more#ftan Elisco but 2 goals less than Will in a Soccer Tournament. Altogether, the three
players scored 27goals. /| g /c’?

(a) Let s represent goals scored by Sachin. Express Eliseo’s | (b) Use the following sentence to write an equation:
and Will’s goals in terms 6f's. (2 APP) (2 APP)

“Altogether, the three players scored 27 goals in

Expression Representing e bl At

# of goals
Sachin §

Eliseo 5-5 // Q+S-S+STA = &7
will S+R o

(¢) Now solve your equation and stare a conclusion. (4 APP)

s+s-5+s 4+ =27

5 35-3=07 «
[ 34-34%3=274+3 L/
L %8 <30

7. Josh is a salesperson-at Fumre Shop in TV department. He is paid $15.25 per hour worked plus $50.00 per TV sold.
[9 APP in totall /" ({ G

(a) Complete the llowing table by writing an algebraic expression for the amount earned in each case. (3 APP)

Student
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R
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PRIV

e 5*!0

Shchm scored 10 cxf/S Eliseo \_//
Scorﬂ 5 and fswre'o( I .

Quantity . h'i"bg,ﬁ:ﬁ:;?‘" i Amount Earned...
Niciberof Hinis ) ... for working ¢ hours / F = /5‘,2;1& e %J"\
Worked 15,4 g- _(.
Number of TV ... for selling n TVs L
Sold " 50 n D
.. in total
Total Earnings ($) E / ) =

I?
(b) How much would Josh earn for working for 40 hours and selling 15 TVs? f ﬁ')) n= /5‘

E= |63 50
I‘b 35?%)*— ';(b) o Josh eams 4635 for ""C'f/"’ﬂj W haurs
= 610 +975 =685 " and SE’M% [5 Tls.

9
(¢) How many TVs must Josh sell to earn $781.25 for 25 hours of work? A 50 n _ &f-OO e
reERE T i
p o
O n — g //

== 7535, t =25 n="7
%52\ must self

73125 = 15:25(3S) 1—5‘&;,, i
4, 181,395 = 331.35 + 50n o
" 79125 = Rls= 39,35 +50n = 38189 | T T b s
i %O:%h #75(3/# ﬁf’?g

hours mc wior




8. Anmol is saving nickels and dimes in a jar. The jar contains 10 more nickels
than dimes and altogether, the value of the coins is $16.25. How many
nickels and dimes are in the jar?

L

—

1 Uulnown \_@}pmsenﬁh‘on 1 Value

%0, || Nickel=5*

=$0.05

el dines | d 0.109 J
# of nichels| A+ [0 0,05 (d+10)

Dime = 10° =

$0.10

Téal valww of cows = [6.25

. Volw of dines +J&(ﬂ\0ﬁwcf’€{( = 6.5

3 mmd+a&j§ 10) = 16:2S VQ//
' 010d _,_0305044‘0,60 = 6. 2S5
¢ pd5d+ 0.5 = (6.2S

5 05 = l6As-05 .

'3

0,15 +0-

,’J 0;!5\0’ = 15’7g

2 0:S5d _ 1575
0.15 O, rb
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